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161616   구구단 의미, 곱의 크기 비교 D
2-2 � 곱셈구구

☺ 덧셈식을�곱셈식으로�나타내고�답을�구하세요.

� � 3 + 3 + 3 + 3 + 3 + 3 + 3 = 3 × 7 = 21

� � 5 + 5 + 5 + 5 + 5 + 5 = 5 × =

� � 7 + 7 + 7 + 7 + 7 + 7 + 7 + 7 = × =

� � 9 + 9 + 9 + 9 =

� � 2 + 2 + 2 + 2 + 2 + 2 + 2 + 2 + 2 =

� � 4 + 4 + 4 + 4 + 4 + 4 + 4 + 4 + 4 =

� � 6 + 6 + 6 + 6 + 6 + 6 + 6 + 6 + 6 + 6 =

� � 8 + 8 + 8 + 8 + 8 + 8 =

☺ 두�수의�크기를�비교하여� 안에�>, =, <를�알맞게�쓰세요.

6 +6 +6 +6 +6 +6 4+ 4+ 4+ 4+ 4+4+ 4+ 4+ 4

8+ 8+ 8+ 8+ 8+ 8+ 8+ 8 7+ 7+ 7+ 7+ 7+ 7+ 7+ 7+ 7

6 +6 +6 +6 +6 +6 +6 7+ 7+ 7+ 7+ 7+ 7 

9 +9 +9 +9 +9 7+ 7+ 7+ 7+ 7+ 7+ 7 
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